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There are 15 questions in all in this Section. All questions are compulsory.

JPEG &5 2 ¥auIlb — JPEG-&7 <[ 341 Re 7
(A) Y oI @R FA . (B) TG TS GHGAA
(C) &S TEIFREs @A oFof (D) - SIS (AR T2 BRI (ol |

JPEG is a picture file format — what does JPEG stand for ? |,
(A)  Joy Prakash Energy Group '
(B) Joint Photogfaphic Extension Group

(C)  Joint Photographic Experts Group

(D) Joint Programming for Ecological Goal.

(A)  TEme B) PN

(C) ITgN (D) %‘ml

'Ramsar site' is connected with '
(A) Wetland , (B) Grassland

(C) Forestland (D)  Valley..

fEoenRes e 26 |

a) e sifvezs a4 (B) EURIGERIES RGN

(C) dETel @Y T (D) *fEq IReE

The function of hemoglobin is

(A) to transport oxygen ' (B) to destruct bacteria

(C) to prevent anemia : (D) to utilize energy.
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4. febi A Yibfen vt b zw, Il 2
(A) ST (B)
c =G (D)
Deficiency of Vitamin A results in
(A)  night blindness (B)
(C) scurvy (D)
5. WA <A b T A T
(A) 208 (B)
(C) 209 (D)
Number of bones present'in humanis
(A) - 208 (B)
(C) 209 (D)
6. D @OTED oo L w4 |
(A) S (B)
(C) &E (D)
Mount Everest is located in
() India (B).
(C)  Nepal (D)
7. ‘qfx@ T ofifeTe =
(A) 5% (B)
(€) 16 & CIUHEd (D)
Earth Day is celebrated on
(A)  5th June (B)
(C)  16th September- (D)
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hair fall.
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204.
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China .
Bhutan.

22 ¢ @i

128 @)

22nd April
12th May.
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frsfafie @m sialirs g siFewaes orafis 71 2

A=A

BleferHIf |

. Manas

Chapramari.

a6 ARG AT
9T B *Eho |

the name of a river

a type of cultivation.

e,

ES

@\«a—sreiml

Tamil Nadu

(A) QI E) (B)

(C) TS (D)

Which of the following reserve forests ié not located in West Bengal ?

(A) Gorumara (B)

(C) Sundarban (D)

FEES!

a) @3 ETITo (B)

() @0 e : (D)

Jhum is

(A) a folk dance * - ' (B)

(C)  atribe - (D)
). SETEI @1 CIF, Alce S[ES ?

A) WG ew . ® - g

(C)  WzIE | (D).

Ellora caves are located in the state of

(A) Madhya Pradesh (B)

(C)° Maharashtra (D)

I,  THICMRA 1 AP

&) 44 crecerT (B)
() 46 b @IICET (D)
The human cell contains

(A) 44 chromosomes (B)
(C) 46 chromosomes ' (D)

360e 503

Uttar Pradesh.
48 T (IS
23 b RIS |

48 chromosomes

|
23 chromosomes.
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12, S @R S8RN FERE
| A) xRy

€ s

Alfred Nobel invented
(A) X-ray
(C) Dynamite

13. @ seeeie @ s1ihe

(a) b

(C) T

Victoria falls is located in
(A)  Russia |

(©) Africa

(A)  SfHEEH
(C)  =IETIEE

14, cﬂﬂmﬁﬂaﬁf‘wmwwﬁ@,mﬁﬁ

(D)

@) foee AT
(D) S
(B)  Diesel enginé
(D) ~ Dynamo.
(B)  SICHETHI
D) e
(B)  Australia
(D) Brazil.
(B) TR
PR TREHES |

The gas present in the highest proportion in air is

(A) Oxygen
(C)) Hydrogen

15.  f1 @ (CNG)-% &% 2=

(A) STSTHBS BT T
(C)  FACRCBE AN T

'CNG' stands for
(A) -~ Converted Natural_ Gas
(C)  Conducted Natural Gas

f360e
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(D)

(B)
(D)

(B)
(D)
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Nitrogen

- Carbon dioxide.

WWWI

Conduced Natura] Gas
Compressed N atural Gas.
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Section - 11
Current Affairs

@3 e Giib 15 6 o ey | st emd war |

There are 15 questions in all in this Section. All questions are compulsory.

SIRTOS ST SN SEIR) SIS CForlrg (g, B, R, @) 71

(A) = (B) 2T
() sfav A (D) QT ;
India's maiden nuclear-tipped inter-continental ballistic missile (ICBM) is §
(A)  Akash | (B)  Prithvi-Iil h
(C)  Agni-V C (D) Brahmos.

(a)  miEfers - (B) S 1
© T A% D) @

Name of the NASA's spacecraft which is orbiting around Jupiter is

(A) - Galileo B) Europa

(€) .Juno o . (D) ' Dawn.

18. wﬂs@ I3 2014Wﬂﬁﬁmaﬁ*mwmﬂmﬁ%m—rﬁ
(A)  TEHEE ZAFEHEE T Frorrafi 31'1\51116111'&161 | .
(B) IS (STSFIAETG TS S | o

(©) T fhp |
(D) 1 a fea

On August 13, 2014 Planning Commission was replééed by

(A)  National Institution for Transforming India Aayog

(B) National Development Council
(C) Finance Commission
(D) CAG. ‘

of 2Y
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10, 26 1 7TOSER, 2014 HIET 18-O% 3116 A I SO 2N
(@) TR (B) PRI
(C) O ' (D) TN
On 26th November, 2014, 18th SAARC summit was held in
(A) Islamabad o (B) Katmandu
(C) Dhaka E - (D) Colombo.

20. Wﬁ%w@wmﬁmﬁw

a) e | (B) TS

(C) TadG ' - (D) COETHEMI
Which Indian state is most recéntly formed ?

(A) Chhattisgarh. ; (B) - Jharkhand
(C) Uttarakhand \ (D)  Telengana.

21. 9HME AN (@ (EE AR & O 2

(A) T N =
(€ G L D) v
7 Roger Federer is associated with ‘
(A) Badminton ' | (B)  Hockey
(C)  Tennis (D)  Football,

22, ﬁﬂﬁf%ﬁ@ﬁmmmw'ﬁmﬁwwwmwm@?

A) e @A | (B)  RIRTEWALS
©  ETHEA o (D) w3
Who among the folldwing scientists was associated with the theory of Relativity ?
(A)  Niels Bohr (B)  Heisenberg
(C) - Einstein (D)  Madam Curie.
f360e 503 8 of 2
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2l @iTerst 2 R A SarR e e 5 2 ]

(A) IS - Ol (B) IRl - 4=l

(€) el - e (D) TEPrel - BT |
Maitri Express Il will run bétWeen |

(A)  Kolkata - Dhaka (B) Kolkata - Khulna

(©) Kolkata - Barisal (D)  Kolkata - Rajshahi.

(SEHI A SIfYe ZEg (@ A ©f Z9

(A) 2011 B) 2012 , ,1
(C) 2013 (D) 2014, _'
The state of Telengana was formed in the year '
(A) 2011 : (B) 2012
(C) 2013 o (D) 2014,
SIS TSI 2 Z4
(A) o | B) IIF
(c @ ‘ D) = ' .
The National Bird of India is )
(A)  Eagle - : (B) Crow
(C)  Peacock - (D) Ibis.

(T GO Tl 2014 T TS SINOAT T GHI® IR0 ?

(A)  IEGOIR ANGA (B)  CETHI SGeT T e

(C)  ConsNiIY FATETR (D) WG AT

Which national leader received Bharat Ratna Award posthumously in the year 2014 ?
(A)  Vallabhbhai Patel (B) Moulana Abul Kalam Azad

(C)  Gopinath Bardoloi | (D) Madahn Mohan Malaviya.

f360¢ 503 | ' 9 of 20
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27, CIAD OO QTN ST 4 J0S BT 7
(A) b @R B)  orIas
(C) @@ D)
- Which will be country's 13th major port ?
(A)  Port Blair | (B)  Paradwip
(C) Enayem (D) ' Kochi.
28, WY ATEA GG TEH
(A)  NPH 78 B) TN RAEPET
(C) =RA5% G | (D) = FEWEH GLEINGT |
The author of the novel Ananda Math is
(A) Madhusudan Datta (B) Swami Vivekananda
(C) Nabin Chandra Sen " (D) Bankim Chandra Chattopadhyay.
29.  &F VT (P 071 AU GIRT ST SAFTH I 2
(A) 3T @F @ - (B) T
(C)  ¢ob e | (D) R
Which of thé following countries céleb;ates Christmas festival.ih summer season ?
(A)  USA. | (B) Canada
(C)  Great Britain (D) Australia.
30, WORIEMICS! WSTHOTY (F SRER PEH 2
A o e (B) IR STy
(C) I A o R e
Who discovered tile ruins of Mohenjodaro ?
(A)  John Marshall () . Dayaram Sahan;
(C) Rakhaldas Banerjee (D) B. B. Lal.
f360e 503
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Section - III
General English

ns?z‘ﬁﬂmmmwﬁwwlwmﬁﬁmm

There are 15 questions in all in this Section. All questions are compulsory.

One or two stars were still ...... — in the sky. ..
(A) burning ‘ (B) turning
(C) twinkling . (D) tinkling.

The boys who wanted to play football were d1sappo1nted when it ramed
The above sentence is a

(A) complex sentence : (B)

compound sentencc
(C) simple sentence (D)

" mixed sentence.

I will try to be on time but do not worry when I am late.
(a) (b) (c) (d)

Which part in the above sentence has an error ?

A  a : i(B) b

© c . o (D) d.

"Or is it some humble lay

Familiar matter of today ?"

In the above lines the word 'humble' means

(A)  weak ' (B)  cowardly

(C) insignificant A (D)  meek.

Pick out the correct sentence : _ ! .
(A) To be intelligent is more essential than being hard-working
(B) Being intelligent is more important than to be hard-working !
(&) For one to be intelligent is more important than being hard-working
(D) Being intelligent is more essential than being hard-working.

Another baffling change . that I notice in him nowadays is that he '
(a) (b) (c)
avoids to speak to me. ‘
(d) ,
Which part in the above sentence has an error ?
(A) .a - <. 8 (B) b
€ ¢ (D) d.

503
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37.  Write an abstract of this ¢ssay.
The underlined word means
(A)  summary . (B) title :
(C) plan | - (D) conclusion.

38. "Would you mind moving the car ?"
lThe above sentence is a

(A)  query ' (B) polite request
(C) an advice (D) a suggestion.
39. 'l cannot understand what is written here.'
Choose the correct phrasal verb to replace the underlined word in the above sentence.
* (A)  hold on ' (B).  give out
(C)  makeout ; " (D) give away.
40. Rahim's doctor advised him £0 1overreereenne as a cure for his sore throat.
(A)  babble (B) gargle
(C)  giggle (D)  gurgle. ]
41. Pick out the cofrect sentence :

(A) Bhupen do not know the way (B) Bhupen do not knows thé way
(C) Bhupen did not knows the way (D). Bhupen does not know the way.

42, What is the tinigEum........ your watch ? :
(A) in ' - (B) by
(C) on _ (D) at.

43. A group of elephants is calleda :
(A) collection ‘ ' (B) herd
(C) .schdol _ (D) litter.

44, "I regret to inform you that ........
The above would be the beginning of a letter conveying
(A),  sad news ~ (B)  adenial
(C) an acceptance - ; (D) an emergency.

' 45. Pick out the antonym of the word ‘trivial'.

(A)  important (B)  insignificant
(C)  futile (D) .fas't.
£360¢ | 1503
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Section - IV

Arithmetic

@8 faers (i 15 5 o =iy | Wﬁﬁi@ﬁ?{m

There are 15 questions in all in this Section. All questions are compulsory.

500 DI TE 40% IS @32, 500 BT G9F o194 36% 942 4% RIS AP To

(A) 2% | B 7205

() oT™ S (D)_.lsm”

The difference of 40% discount on Rs. 500 and succéssive discounts of 36% and 4%
on Rs. 500 is ' '

(A) Rs.2 __‘ (i3) Rs. 7:20
© Re.O (D) Rs. 18"

iooo%ﬁmw‘c\o—a’rwm%mﬁm 27%5{1@11 e 1t GIFE e 2E @ @

AATE TFI hﬁ A

......................... o AR |
(a) 3f N | S B 7fm
© 2= . - (D) ‘41’71_*{'

16 machines take 27 days to make 1000 parts. If 2 more machmes are installed, to
make same number of parts number of days reduced by

(A) 3 days (B) 7 days
(C) 2 days : ' - (D) 4‘days

%WﬂWﬂWﬁﬂW9m,6ﬁW,4ﬁW,10@1@“‘5@‘«8@1@
ffore a6 | ela @@y AM6RIE o7 (AT 9T TN Cref Foa G TEE ?
(A) 113" : (B) 83IF

© 129@ D) 93F

S 0
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After ringing together 5 bells begin to ring at intervals of 9 secs, 6 ses, 4 secs, 10 sg

and 8 secs respectively. How many times the bells will ring together 1n .one ho
starting.from ﬁrst time finging together ?

(A) 11 times » (B) 8 times

- (C) 12 times | . (D) 9 times

49,

4% MR I A 1,200 B 5 NEE & @72 B 750 Bl 4 HOH & G| T @

| IR 450 BTl 7S T OH@ A8 B-a9 eI} FISd TS

(A) 3:2 . B) 5:3

© 2:1 D) 4:3

50.

In a partnership business A contributes Rs. 1,200 for 5 months and B Rs. 750 fi
4 months. If there is a profit of Rs. 450, then ratio of the profit of A and Bis ‘
A) 3:2 o “(B)... 5:3 o |
c 2:1 D) 4:3 | | |

1-7, 0-51 @2 0-153 322 foAiba o137.e.

A) 017 B 17 )
(C) 0017 " (D) 00017

'The H.C.F. of the three numbers 17, 0-51.and 0-153 is _

a) - 017 | B) 17

() 0017 - "~ (D) 00017

5.,

f360¢

14wc«=nas12%@&#1%%%@3@&6%@%8%@%%@%%@@
Afefire ST FOeH R AN ? . |

A 9T ' | (B) 7%
By A D) 6% |

14 persons can sink a tubewell in 12 days. How many extra persons are required !

sink the tubewell in 8 days ?

(A) O persons (B) 7 persons
(C) 3 persons (D) 6 persons
' 503
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b G oA AR 10%, 20% G- 30% FIOGA TGN TG 2
() 454% . (B)  496%
(C)  527% o (D)  582%

The successive discounts of 10%, 20% and 30% on an article is equivalent to the

discount of
(A)  454% _ (B) 496%
€ 527% | (D)  582%

@3 TR TP 620 BRA @8 €61 AR (AT 25% P G W 15% WS R w9
T SR XS AS @ |

(A) 12%% | (B ‘13%%
(©) .11%% | (D) 14%%

Cost price of an ‘a..rticle is Rs. 620 and it is 25% below the marked price. If the article

is sold at a discount of 15%, the percentage of f)fpfit is

(A 12%%‘ e, (B) 13%%
)  111% | O) 142%

3 3

0-84181-9% HI§E AHE TR (RI6 TFIEL G A0 FIET 29 8 TR A4

=@
a) 29 (B) 87
©) 67 | (D) 13

'If the recurring decimal 0-84181 be written as a fraction in its lowest terms, the
difference between the denominator and the numerator is '

(A) 29 , (B) 87

(€ 67 () 13

15 of 20
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55. Al saer casres 211 o 7y o calb AT opelTs 7 ¢ 6 T 3 PRIl o

TR BN A % @ =y wE waee feA 2@

7 3 7 : 7 2 3 .
A i L2 =
W 81079 B 535
342 75 3
(C) = r-ryy = X [D) et e
S'7T°% " . 8’6’4 g
'Sum'of three fractions is 2%. If the ratio of the léu'gest and the smal_lest fraction
is 7 : 6 and this-ratio-is L more than the midd-le _fraction, then the fractions are
7 3 7 : i, 3
- el B —, =, =
(&) 8’10’9 : () 9’3°5
L 342 i Qi 5
(C) ' 57?75‘ (D) 8’6’4
59.

56. @I WEOCHE ML 15% AGET @R o7F 15% FAE], CRaTETd =odd] AfTST 26

A) %%zﬁﬁ : (B) 2%0/0@3 |
4 ; ‘ 1, ;
© F%»Ia . D) 25%3FF

If length of a rectangle increases by 15% and breadth decreases by 15%, ther

percentage change in area is

(A) %% increase ' (_.B) 2% % decrease ' ; -
- . -' . . B ) 1
(C) —g—% increase _ (D) 2?‘:% decrease

57. @0 7oﬁtmwc§‘ﬂ‘aﬂ‘:m 75 ff @t 105 Fom =11 @3l Qe it 77w 39y @

&)

N

A) 4= A | B 8

(J1|v—'

1 ' (D)f © 3= H

win
i

C) 5

[360¢ | e ofo 1360


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

wWww.prepp.in 'repp

Your Personal Exams Guide

ETR . AT N

CSSCC-2017

Time taken by a train 70 metres long to cross a bridge of length 105 metres with a

speed of 75 kmph is

| 2
(A) 4% sec : (B) 8‘5' 8ee -
(C) 5% sec | (D) 3% sec

W*{Fﬂ"l\WS 6 7 SSQ\QW_WW'{IW4 5,6,7@‘328@%@]@'@?

(A)- 2519 . (B) 5039

(C) 1079 o (D) 979

Which smallest number leaves remamders 4,5, 6, 7 and 8 respectwely when dxvxdcd
by 5,6 ,7,8 and 9 ? , ‘

(A) 2519 (B) 5039

(C) .1079 - (D) : 979

afg azlh 9% 10%@?‘@%@11&@%@ m%‘mmﬁwﬁﬁwws%m

T | qiefa Rawgen.
(A) 290 BTl R (B) 300 nRal
(C) 35005 Ny N - (D) 270 5l : A Co L

. Hari sold a watch at a loss of 10% If he would sell it at Rs. 54 more he would have a
profit of 8%, the sell pnce of t_he watch is '
(A) Rs. 290 ; (B) Rs. 300
(C) Rs. 350 (D) Rs.270

(4)°5 x (0-5)% x 2% -7 N &=

(A) % : B 1
(C) . | 2 (D) %
Value of (4)°%x(0:5)* x2* is '
@ B 1 ’
© 2 | (D) %3-

f360c | - 503 ' 17 of 20
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